Tip :  
* On emploie un comparatif pour comparer une chose à une autre. Il existe des comparatifs de supériorité = [adj. Court + er] ou more + adjectif long (+ than si on introduit le 2ème terme de la comparaison), infériorité  = less + adj. long ou court (+ than si on introduit le 2ème terme de la comparaison), ou d’inégalité = not as + adj. long ou court (+ as si on introduit le 2ème terme de la comparaison).
/!\ Certains adjectifs et leurs composés ont une forme irrégulière (ex : good → better, bad → worse, far → farther / further
* On emploie un superlatif pour comparer une chose à toutes les autres choses du même genre. 
Les superlatifs de supériorité se forment avec déterminant + [adj. court + -est] ou déterminant + most + adj. long. 
Le 2ème terme de la comparaison peut notamment être introduit par of (=repère temporel - lien –'appartenance), in (groupe humain – lieu vaste) 
Exercise 1: Say if the words in bold are comparative ( C ) or superlative adjectives ( S )
a. Our new app is more efficient. (   )
b. The new version seems more attractive (   ).

c. It is this year’s best-selling product. (  )
d. The most aggressive strategy implies changing our whole range of produce. (  )
e. Our sales strategy is better than ever. (  )
Exercise 2 : Say if the following adjectives are long ( L ) or short ( S ) and find the corresponding comparative of superiority. 
a. trendy →


d. big →
b. sufficient →


e. clever →
c. well-known →
Exercise 3 : Rephrase the following sentences. Complete the following table.

	The new version is less attractive.
	

	
	Customers aren’t as satisfied as before.

	
	The old version wasn’t as practical. 

	Consumers find the new app less energy-hungry.
	

	Our sales rep’ works less than in the past. 
	


Exercise 4 : Complete the blanks with less or fewer. 
a. They have spent _ _ _ _ _ _ _ _ time developing the new version. 
b. The older version had _ _ _ _ _ _ _ _ functionalities. 
c. The new produce will have _ _ _ _ _ _ _ _ defects.
d. Our new operating system has _ _ _ _ _ _ _ _ options, I’m afraid.
e. This device is consuming _ _ _ _ _ _ _ _ energy. 
Exercise 5 : Rephrase the previous sentences with so many or as much. /!\ Mind the tenses!
Exercise 6 : Find the superlative adjective each time and turn the * into a suitable preposition each time.
a. It is undoubtedly (performant) _ _ _ _ _ _ _ _ _ _ OS *_ _ the decade. 
b. He is (imaginative) _ _ _ _ _ _ _ _ _ technician * _ _ _ _ the team. 
c. It isn’t (small) _ _ _ _ _ _ _ _ _ microprocessor * _ _ the market. 
d. What is (fast) _ _ _ _ _ _ _ _ _ operating system * _ _ 2021?
e. It is (cheap) _ _ _ _ _ _ _ _ _ _ component * _ _ current information systems.
Exercise 7 : Follow the example
It is (good) _ _ _ _ _ _ _ _ all the models available on the market
a) It is better than all the models available on the market. 
b) It is the best model available on the market. 
a. It is (cheap) _ _ _ _ _ _ _ _ _ _ _ _all the components sold here. 
b. They are (big) _ _ _ _ _ _ _ _ _ _ _ _ _all the other chips we manufacture. 

c. This version is (recent) _ _ __ _ _ _ _ _ _ _ _  all the other versions presented so far. 
d. It is (bad) _ _ _ _ _ _ _ _ _ _ all the other models we have bought so far. 
e. This model is (well-known) _ _ _ _ _ _ _ _ _ _ _ all the models imported from Asia. 

Exercise 8. Complete the blanks with least or less 
a. Aiming at reducing planned obsolescence is the _ _ _ _ _ _  we could do for our customers. 

b. We are aiming at _ _ _ _ _ _ pollution. 

c. We are no longer selling the _ _ _ _ _ _ performant model. 
d. The _ _ _ _ _ _ satisfied our customers are, the higher the risk of losing customers to competitors. 
Exercise 9. Complete the blanks with a double comparative of superiority.
a. (many) _ _ _ _ _ _ _ _ _ and _ _ _ _ _ _ _ _ _ users are dissatisfied with our new range of produce. 
b. Transistors are getting (small) _ _ _ _ _ _ _ _ _ and _ _ _ _ _ _ _ _ _ . 
c. Scientists are designing (powerful) _ _ _ _ _ _ _ _ _ and _ _ _ _ _ _ _ _ _ microprocessors. 
d. The battery felt (hot) _ _ _ _ _ _ _ _ _ and _ _ _ _ _ _ _ _ _  so I removed it. 

Exercise 10. Choose the correct form in bold each time. 
a. The smartphone on the right is twice more expensive than / twice as expensive as the one on the left. 
b. It consumes two times less / half as much energy. 
c. They have attracted ten times more / ten times as many customers. 
d. The new battery can hold three times more / three times as much energy. 

Exercise 11. Translate into English
a. De plus en plus de consommateurs rejettent l’idée que l’obsolescence programmée est un mal nécessaire. 
b. A cause de l’obsolescence programmée, les appareils durent deux fois moins longtemps qu’avant. 
c. Plus l’obsolescence est rapide et plus les acheteurs sont insatisfaits. 
d. Le moins que les industriels puissent faire, est de vendre des produits moins chers et plus performants. 
